ADULT TO CHILD RATIOS FOR SUBSTITUTE CARE

Name(s)_________________________________________

Directions:  You are looking for substitute care for your children.  You are comparing various child care centers.  You have narrowed your choices to three sites. The last criteria you need to consider is adult-to-child ratios.    Determine the adult to child ratios, using the given formula, for the three sites.  Formula:  (State’s requirement)   # of adults/# of children (specific age or age group) =  y adults/# of children (specific age or age group comparing) at site.  The product of the cross term must be equal for the ratio to be correct.  (Example:  1 adult/3 infants = y adults/10 infants.  1 x 10 = 3 x y.  10 = 3y.  10/3 = y.  y = 3  1/3.  You would round up fractions.  In this case, 4 adults would be needed for 10 children with a requirement of 1 adult to every 3 infants.)  Then, based on your state’s criteria for adult-to-child ratios for licensed child care centers, choose the best site.  Show your work.  This is worth ? points.

Child Care Site 1:
   
6 infants to 1 adult





8 toddlers to 2 adult





8 preschoolers to 1 adult

Child Care Site 2:

3 infants to 1 adult





13 toddlers and preschoolers to 1 adult

Child Care Site 3:

4 infants to 1 adult





5 toddlers to 2 adults





15 preschoolers to 1 adult

The best site based on recommended adult to child ratios is site ____.

Explain why you would or would not choose this site.
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